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MNrections :

PART - A

SYNONYMS
Eueh jrem in this section conslis of & penence with sn yndesdined word/words

followed by four wonds, Select the option that (s nearest in meaning (o the underhned word/words
and miErk your responso in your Answer Sheet acoordingly:

Lo 1 do not want you to lead & life of

&

syeapthuncy us yoi did during the foreign
tule,

‘fa)  ndrmrbion

(b} love
() appresiation
() Mattery

In India, it has become casy to attack
cultural artefocts thess days,

(8] beokon
(b) amspult
(c) belth
(d) apprediite

A loddl court granisd bail t6 the criminagl
an Thursdmy.

"

(n) confessed
(b} donated
(c) allowed
(d)  yichled

4. The judge told tut he would asalyse the

evidencs and then deliver the vordiot,
{a)  liberats
(b) sumender
() transfer

(@) prenounce

SRCY-L-ADN — A

5, The growth and developenmt of the

peasant movement wus indissolubly
Linked with e mational strugpgle le
freedom.

(a)  fimly
by vaguely
(e) individually
(d) steddily

. Wealher ebnditivng have beet M

over the past foew dava.

() mending

(b} amending
{¢) bogoming btier

(d) advesocng

« The confusion om the intetlocutor's face

Wwaa gratifying.

(a) government afficer
(b) party worker

(c) dinlojgis

(d} revolutionary

B. He spends his monay lavishly.

(a) hesiaungly
(v} generously
{e) folshly
(d) carefully



9. The government's new policies will come

into force fram the next fiscal year
{a) calendar
(h) peademic

: (¢) financial

) leap

ANTONYNMS

10, Abundant food was avmlahle for the

goldiers in the mis,
(a) ligle

(b) plentiful

() delicious

{d] wholeiome

Divections : Bach em in thue section conmists of a sentence with an underdined word‘wonds followed
by four words. Select the ophon that 1s oppesiie in meaning 0 the underlined word/words and mark

YOUr response i your Andwer Shoet accordingly.

11. The country's economy must be geared

k2.

13.

to wartime TecuiTrment,
(a) subordinated w0

(b} related to

fe) adjusied 1o

(d) umtinked 1o

Why does fire artmmol myocts 7
(@) discharge

(b) dantroy

(e} roped

(d] remove

The parly was excellenl, aad | would
ke ta thank all the people concerned.

(a) cared
() attenbive

(¢} dopendabio
(d) wminvoived

14. He is very senious by temperament.

15.

(d) pgrave
(b} trivial
(¢) sotier

() stopid

Thetre are a lew tmecellancous Hemn Lo
discuss in this mesting.

(n) pure

(b) mixed

(c) homogenous
(d) disoondant

16. Due w the pasial strike, the oumoing

muil got delayoed,
(h} wurgem

(b} incomting
(¢} ordinary
(d} speedy

A = SRCY-1-ADN



17. He hall a fine éar for music 19, Cultural diversity irl the working place is

t.'u} il Eﬂﬁdfﬂlhﬁ.ﬁﬂﬂﬂlq
B} clase (8) uniformity
(¢} coams (h) conformity
(@) rmoath ' (c) Wentity

_ | () similis

18, There is no likeness between him and
His beother. 20. The compiey was Houidated within five
(a) unlikelmes Fea
(b) unfiketitiood (2) bankmpt
(¢} dissimilarity (b} cloged down
(d) diaffinity {0} fourinhing
(d] privatised

SPOTTING ERRORS

Directions ; Each item (n this section has & sentence with three undesiined parts labelled (a), (b)
and (e). Read choh sentence to find dut whether there id uny error in any undetlined part and
indicate your reiponse m the Answer Sheel againsl the corresponding Tolter i.e., (1) ar (b) or (g).
I wou find no emor, your responie dhould be mdicated as (d).
21, The politician lost facein his constituency  when he broke the pre-election prowmines
(n) (b)
he mnde o higpeople. Mo etror
() (dj

22, Atthe request of the Defance Attomey,  the jury were called
(2) (b}
and thelr individun] verdics wete reborded. ™o ermor.
(c) (dj
23, Frank Llovd Wright' has beeit sccluimed by collengien
' (a) (B)
s the greater of nll modern architects, Mo omor,
(€l ()
24, Inmy youngerdays | could run four mileg  ata stretch.  Noemor,
() (h) (e] (d1

35, The owner  as well as his servants {5 hopest.  No e,
(8} (b) (e} ()

SRCY-U-ADN - A 4



IDIOMS AND PHRASES

Directions : Givean helow are some diomahmses followed by four aliernative mennings 1o each.
Choune the responae (2], (b), (e) or () which i3 the most approprisle expression,

26. Cry over gpilt milk

27.

() Comploining about o Joss in the pust
(b} Too much isquusitve about sometimg

fe) When something s déne badly i
Aave Iy

() Dealing with a prohlem only in an
emergency sitwation

Clut tho mustard

(n) Prepare splces out of mustand seeds

() T come up to expectativng

(e} Making absurd expethstions

(d} Very enthustastio

28. Devil’s sdvocate

(a) A dangerous person
(0} To present a counier orgumoent

8.

(o) Very argumentative person
() Creating an unpleasunt gitaution

Dottt court your chickens bofore the

egis have hached

() If vou ard not good ot something,
botier o avaid (hat

(b} Don't make plons for something
that mught tiot happen

(e} Mol come up to expectatipns
{d) Don't piat all your resources in ane

possitility

30. Guve the benefit of doubt

(a) Tao ba partial (o Yomeone
t) Ta be judgmertal

(o) Regard someone s frnocent onlil
proven otherwise

(d) Say something exactly night

ORDERING OF SENTENCES

Directions : In this section esich ilem consints of six semtences uf a passage. The first and sixth
sentences are given in the beginning =& 51 and 86, The middle four sentences in each have boen
jurnbled op snd libelled F, Q; R and 8. You are required to find the proper sequence of the four
sentences and mark your response aceordimgly on the Answer Sheet

S1: The Subsidiary Alliance sywiem was
extremely advontageous o the
Biritish,

B6: Thay comtraTled the defence und the
foreign relations of ths protected

ally.

P : They could now maintain & large
army ot the cosi of Tdisn stales

Q@ ifamy war oequired in the temitories

R - either of the British ally or of the
Britiihors

5 : This enabled them to fght wars far
away from their own territonies

The proper sequence abauld be
(o) PQRS
fy PSQR
) QRPS
d SRPQ

A — SROY-U-ADN



3% 8l:

3.

= o =

In veality, by mgning 5 Subgidiary
Alllance, an lndihn state virtually
signud away its indepondence.

cIn Bt the Indinn tuler loat all

vestiges of sovereignty in external
nattern.

¢ ofmainmining diplomatic relations
: It lost the right of sell’ defomen

: with im neighbours
33

and of settling s dispues

The proper sequence should bo

{a}
(b}
(]
fd)

Bl:

gz

FOQRS

RSPQ

QPSR

QSRP

A mighty popular Rovolt broke oul
m: Northemn and Central India i
1RST.

Millions of pessants, artisans and

soldiers fought horoically and wiote
a gionous chupier

¢ Sepoyd, or the Indian soldiers of the

Compuny's army

: but soon engulled wide rogions and

imvolved the masses

- and neatly awept away the Hritish

e

It began wilth a motiny ol the

SROY-U-ADN - A

The proper sequence shoald be

(4} REPFQ

(b} PQRSE

(€] SRPQ

My QRPS

. B

R:

5

The Indian Civil Service gradually
developed into one of the most
efficient and powerful eivil services
im the wiirld.

¢ though these gualities obviously

served British, and not Indisn
interest,

. amd often participated. in the making

of policy

- indepentence, integrity and hard

work
They developed cevipin traditions of

[ts members exercised vast powert

The proper sequence should be

(a) POQRS

by QRSP

€ RSQFP

) SPRQ



35, 51: The ruinof Indisn handicrafts was R : survive Hritish congquest
reflected in' the miin of the towns

and cities winch were famous for S : Cines winch had withstood the
their manufactures,
The proper sequence should be
S6; Centres were developed and lind
waste, (0) PORS
P . Dicea, Surat, Murshidabad and ) SQRP
many other rising industrial
) SRPQ
0 mvages of war and plunder, failed
to ) QRSP
COMPREHENSION

Directions ¢ In thin section you huve few abort passages, After each passage, you will find some
items based on the passage. First, read a pussage and anvwer the items based on it You are
roquired to select your mswers based on the conients of the passage and opinion of the author only.
Passage

The rule of this rosd means that in ender that the libertdes of all muy be preserved, the liberties of
everyhody must be curmiled. When the policeman, say, st o road-crossing steps into the middle of
(e oud and puts out his kand, he is the iymbal norof tymmmy bin of Tiberty. You have submitied
10 & curtsilment of privite Hberty in order that you may sujoy a sociul onder which makes yoir
liberty a reality. We have both liberties o preserve — our individual liberty and our social liberty.
That is, we munt have & judicious mixture of both, 1 shall not permit any suthority 1o say that my
¢hild mmust go o this school or that, shall specialize in science or arta. These things are periorial
But if 1 say that my child shall bave no education st all, then society will frmly tell me that oy child
must have education whether [ like it or oL

36. Accordmng to the suthor, the “rale of the 37. The author thinks that when & policeman

tord” implies signals you to atop on a rond-crossing,
he i

(2] the rule reguloting the mffic on the
o] (a) hehaving in & whimsical mumer

(b} the prnciple on which o vhad i (b) indesfiering with your freedom o use
construoted to ensure sale mffic the rouad

() wmrestricted freedom for all 1o lead () protecting the liberty of all 1o use
a happy life the rand

(d) resiricted mdividual freedom to () mischievously cresting hurdles in
ermure freedom for all vour way from some personal motive

i A= SRCY-U-ADN



38, The author is of the view that we ghould

(n) have absolute individual liberiy
without any restrictions inposed by
the sotioly

(b}, have gveryiting controlled by the
soctety without any kigd of indi-
vichinl libermy

() try o stnike a sennble balaocg
between owr individual Jiberty and
et poscinl Hberty

(d) have more of social {iberty than
individual libery

39, The auihior holds thal

(m) educating or mor educating b child
15 0 matter of personal liberty

) edueating or not educating hid ehild
o ality o maltet of gpdial Hbeny

(el choosing the schoo] for bis ohild s
o matter of sacial Hberty

i) chovsing ihe subject of siudy fer his
child is o matter of social libarty

40, The most guitable title of the passppe
would be '

(8) The Policeman at s Road Crodsing
(h) ‘The Laws of the Road

() Impartinee of Liberty

{d]  Edwcation of Children

Passage

My muost interesting visior comies of wight, when the Lyghts ave sull bumniog — a tny bat who
prefers to fly in through the epen door, and will use the window only if there s no
alternative. Hin obyect in entaring the house s to pnap up the moths thal clusier around the
lamps. Adl the bats | nave scen iy torly lagh, keeping near the oobmg; but this parmcniar
bt flies in low, Tike a0 deve-bomiber, 2ooming in dnd oul of chair legs and under tablies, Onee,
he purssei] straight Between my legs, las his rador gope wrong, | wondered, or is he just

plouin ¢rmezy ?

41. Conmider the fullowing stalemenis -

b The tiny bat few i low like & dive-
bomber.

2. The uny bat like all ham keeps near
the certhng.

3. T by Joot dirvetion bethuae its radar
hay gone wrony.

4, 1twants 1o enteriam the suthor with
its skill in flying

Which of the abéve siplements may be

asgumid o be bue fom the (nformiation
given in the passago ?

SHCY-L-ADN - A

() loaly
(bl 1 and3
) 2and4
(d) 3and 4

42. The bat cafered the room
(a) beoause there was no alternative
(b} to et the meoths round the lunps
(o) as it hud gone mad

(d} a8 o prefecred to My i throegh the
apen done



43,

Aller comparing the habits of the thiy b
willt thode of other bats, the author was

(a) wore Hud tis bat had loat 1t durection
(b} not sure of it proferences

fch  surprised fo find thet itwas o expen
ey

(d) unable 1o give the cormect explini-
T for s behaviour

44, The author calls the tiny bat an “nferesting

wigiter”, This means
{a} the bat visuis i st mght
(bl the bat is mmterested in the moibis

45.

(ed this bat has peculine quatities

(d) thiwe bat Surprises hun by sodfing i
and out like a dive-bomber

What, securding 10 you, can be the most
suitnhle title for the pounage ?

{n) Someoonc visits me
) Might of Myutecies
(0} My Nocturmal Veaitor

() A Fanny Visitor

FILL IN THE BLANK

Directions : Each of the following sentencas 10 this seetion has n blink space and faur words
ar graup ol wonls given after the sanlence. Seleot the woed or group of words you coniider most
appropriate {or the blank spoce and indicate vour response on (he Answer Sheet pecordingly.

46. The ured taveller

47.

48.

a1 An
the hape of finding some resting plice,

(a) strolled
(b) surrhed
(e} paraded
() plodded

The car' wis domaged beyond repuir in
the necident

(o) outrmgeous
(b} ghastly
(o} nasty

(e Heinoms

Thoy gise X dinmar to
celebrate the occanion, which tmprosged
EvOry Euesl
(o) austere

(b} public

49.

5“-

() memplous
() wemmmnary
Once the tEAnusonpt s

received by the publishers; it in typed in
denible spice,

(gl ol
(k) fill
() tomplete
() filled

| am used to
(@) stand

(b} sanding
(¢} stand up

In gquen,

(@) standipg sill

A = SROY-U-ADN
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51, Frerfafig 3t 4 Wl a7 S99 50 8 7 54, w7 firee e =W o & i

e anferg wET B, wu v

() TEfl = swon & oamer S
ey B

(c) ST et WL e W T F
T T e §

[d) W Esr e mEr R, sl s
‘o st ) e B

52, nft fiel ST W S W

%, T i o 5§ T
il i # 7

(n) #wa P am ol fofoe e
wfe v &

(b) 7 v & faw =g =i fee
st wiar &

(¢) % =y ufiy o wfim w8, T
n T, SRS Y R

() S i =i fret & i,
A () R

. 9f; 7w i e 30 A i,
) fafafee i 0 8wl o ad
E L

0y Zwin v o e ta wm @
() =Ry e v i an W
(c) e mam o

() Tem frorm v F oA e
Lol
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PART-B

51. Which one of the following statementn

Al

h)

h correst 7

(7} Aay coemgy tmnaler thal dnci not
involve lemperature difference in
sl Wiy s nol hesl

Any  merpy  ymnsfer nlways
reguires a temperature diffsrence
On beating the length 'and volunie
ol the object remnin exdetly the
same

(e)

MWhonever: thore |4 8 [emperam
difference, heat s the only way of

energy tramnfer

I T is the time period of an osoilloimg
pendulom, which one of the lollowing
statements s NOT cormoot 7

(a) The motion repeats afler time
only once

74 the lemit time afler which
ttion tepeuts itsell

()

(¢) The mation ropeats itnelf afer o7,

where n is a posilive miegar

T remains the same only for amall
angulir disgilacement

i)

L If an objedt’ moves with constant

veloecity then which ot of thwe lollowing
staternenis 15 NOT correct

(a) T motion is along a straight Jime
(b} Tt speed chunges with e
(c) [s nceelemtion i reto

(d) Its displacement increuned linearly
with time

i1

54,

55,

S,

An objeet  meving with  wmform
aooeleratiom . Is imitiyd velocity i« and
alter thme ¢ s velocity 48 + The
equptinn of {0 motion s v= u+ o The
velooity (along y-aodil] time (dlonyg x-dxin)
graph shall be a straigh line

(2) passing theowigh ovigin
(b)  with x-itercept u
(¢} with y-interoept o

() with alope w

What 5 the net lorce expaticsced by

o bar magner ploced n n o uniform
magmetc feid ¥

(o} Fero
(b} Depends upon lengih of the magnet
{¢) Never zom

(d) Diepends upan tenmperiture

Which one &l
maxanum et 7

the [olldwing hab

{a) At stom

(B A molevule

{2} A ope-rupee coin
(d) A cricker hall

A~ SROY-LI-AIFN



5T

59.

6.

| eWh Tl W I[A W e W,
freyfiftny & & wf b 2

() 1§« 10

by 36« 100}

(e &0 = 10%)

(@) 72w 108

. eiE A A §, fefsem d awmm

F WA e 7

(m) W Fss ol T woama B

), T wAvdys il e )

(e sl & Fny e e A @

(@ e T i Al % w0 gt 5
fm o wm

fieeit =9 5, et fowe = Ao 31 3
forsge, = B

{a) e finer 3 g w

(b) Fae T = g ofte g = e
T

{ey Toue sl o= % sl S mowm
(d) e Fo= 35 g ot ST uw

Frestfartiv # @t 90 e - a0 8

() T S S

(b) PR FeAt
(o) s T e

ey wrer-fas
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6l

Frifafi @ & 3l 0 =g #f v @
Fafvi atvaiy 97 vk a1 yfipf] (Yfis)
il wear & 7

(a) TR 1 WO

(b) SRl o ST

() WV T Wh

(d) s g S

1. Fefrln sl dRed 8 8wk A,

63,

sirsi-ond & e wed) @ 7
(o} 0-=200Hz

{b) 2020000 1z

() F=E 200~ 20,000 Hz

(T 2,000 - 20,000 Hz

T T W () R e g
A oA A BT R | aE T S &
wren gy @ 7

() TTSEEETHE 3

(b) Wikl

(¢) TR =

(d) F=HiE A



S7. Which one of the fMllowing s the value

59.

of 1 kWh of enerpy venverled inio
joules

(a) 1-8=100]
() ¥6=i0t)
(€) 60 = 10T
() 72 x 1001
Which one ol the following dintemenis

ubouil  gravitwlonnl  forde 18 NOT
ereet. 7

() 15 experignoed by all bodicy o
the pniyene

(M) I is a dominamt force betwesn
celestinl bodies

(o) I is & negligible force for atoms

(d) 1t is samie for all paits of bodiés in
our universe

Whether an object will float or sink in

a liguid, depends on

(a) mass of the object only

(b} mask of the objegt and denuity of
Htird only

(e} difforenee in the demsities of the
object and liguid

(d} mazs and ll_w;rl:l-uf the object only

. Which ane af the following devices is

noen-olumic: 7

(8) Conducting coppist coil
) Elscirie Kealing eoil
fe] Sem condugior dumde
(d] Rheayts

13

61, Which one of the following is the nutul

phenomenon based on which o simple
petiscope works 7

&) Reflection of lgit
by Refscton of hghi
(r) Dispermon of bzht

(d) Total intermal reflection of light

62, Which onn of the following froquency

s Ia nensitive 1o hman eams 7
{§) 0-200Hz

(B) 20~ 20000 Fiz

(c) 20020000 Hzonly

() 2600 - 20,000 Hz only

63, The accidentn]l touch of Nettle lTeaves

vreates & burning sensation, which s due
w imjeet af

(o} Hydrochlanc acid

(b} Mothanoic acil

(2) Crtie atid

(d) Snlphuric scid

A= SHOY-U-ADN



64, Tt A T e T (€)' NayCOy5H,0
i AR

(0 g i ¢ .
() MESFk PAE . SR S ) Y I
(c) W s & (i aiwan) % faw st it @ 7
i R
O S ) T S 3 s
(f=gfim ooz) & =9 3 =9 ¥
A

65. Pl @ & S ek, s v

TTRg Ataw (1) 3 8
(b) e siEmT o S et 3 R

(w) HTiE wresieEe Fe (=) 3 firn g wim g @
L i ) (ey e W firmem (Gamaey)
(&) i e (Fmet o) fom gy st v &
(%% (ATHETEC8 (@) W& wam § v () & fem &
firey gt ot i @
6. T W (W) (i f 7
) e 69, AIDS Fom wmew % wmw v &, sww
() MNaOH sitgatinr qund &
(e} NsHCO, .
| () VEEFER ({W%) §HT ONA
(d) Ny CO,
7. Tt # @ =0 w1 ow, 69§ it O T
(artim Bt=r) W A e d 2
(€) WEEFE RNA
{n) NaHCO,
(b) Na,COy 10540 (A f&F wires mA
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64. Which of e following propertie) ic lrue (e} NoCOySHLO
for a twooth paste 7

{a) [1is poudic {d) NaOH

TH) T s neutral

s . 68, Which one of the lollowing s NOT rue
{e) Tris bakig for blenchi \or 7
{d) T s tade up of Caleiuss phoiphate,

the material of 1ooth enanel
fa) It s used wx om reducing apent in

themici! industries
65, Which one af the following gives the
higheat amoart of hydrogen 1ons (H) 7
(bl It in ustd for blenching wiood pillp
() Sodum hvdraxide solution m puper faclories

(B} Milk of mogneiis
y (e] Tt i wsed for disinfecting drinking
(¢} Lemon juize waler

() Cinstric juoice
(dd M ow oused for bleschimg linen in

textile mdustry
66, Rrine ts oo aqueous solution of
(m) Mald
6%, ATDS ib caosed by & vine whose genetic

() NaOH rrtterial 18 '
{¢) NaHC

} = [ny =ngle sranded crreufar TINA
) Nay OO,

. M) dooble sranded DNA
67. Which one of the Milowiig in the

chemical formiuls of Washing Sods ?

_ (e} single ttranded RNA
(a) NaHCD,

(B), Ma,COy 10H,0 ) deuble stranded RNA

15 A — SRCY-U-ADN
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70,

7.

Wiich one of the following s an
organclle that s NOT found in po-

Tarrvotic colls 7

(a} Coll wall

() Mitochomdris

{¢) Plasma membrane

{ef)  Ribomomne

Which ene of the following parts of bidy
does NOT inke part in the proocss of
breathing 7

{a) Broochi

(h) Bowman's chipaule

(e} Diaphragm

() Traches

Which ene of the following slutements
aboait classification of plants is corroet 7

(a) Thallophytes hove well difforon-
tiated hody design

(b)  Fumaria is 0 fungus
(g} Al Plendophyies are FPhanorogams

() Wageulir system {9 not fomd dinong
Hryophytes

17

Ta.

4.

Which one of the following s the corect
pequence of levols of hieniechy al

clasfication of orguniams from fogher
1 lower?

(a) hylum — Class — Order — Faemily
~ Chrnus

(b) Phylum = Clasa - Family — Ondor
- (retiis

{o) Family - Order - Cliss - Specics
- Ljenus

() Clasg — Family — Order — Species
= Cleti

Which' one of the followinyg stlémenls

aboul meristemakic Vissues i plonis

porrect ?

[8) Thepe mre dead tissuss and form
L ' I

(k) They provide flexibility no plant due

o Uselr thickened walls

(e} Thizle are prasenl in the birk ol a

tree amly

Growth cccurs in plunis due 1
division of cells of these tissues

(1)

Which one of the following Linion
Terrimnies hos the ughest fomale nemey
Fate 7

(1) Chandigarh

b Lakshadweop

(e} Andurman and Nicobay Islands
(d) Puthicherry

A— SROCY-T-ADN
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76, Consider the following staiements abow

Rouring Jrorties
L They mre strong Weosterly winds
foutid tn e oc=ans of Southem

Hemisphere

2. The strong cast W wes] A ourrents
are cauged by the combinmtion of
alr being displpeel from the Equator
townrls the Soufh Pole ond the
esrth’s  rotation  and  sbundance

af londmnsses to serve 53 wind
breaks.

Which of the stsiements givon nhove
i/ wre corroot 7

(o} 1only
(b} 2 emly
(e} Bath | and 2

(di Meither | nor 2

. Congicdes the fllowing stuementy -

1. The doldrums 15 & low presgure
area amund  Equstor where  the
prevailing winds are calm,

2 Chmook 1 u hot and dry wind that
blows i winter and therefore ratses
the temperature in @ shor bime

Which of the wampmems given above
ti/are corrogt 7

(a) | only
‘(b) 2 only
{¢) Bolh | and 2
(d) Meitlier | nor 2

19

78. Which ‘ane of the following s tho dibcst

79,

dieert of e wotld 7
(1) N.nnmn

(h) Gobi

(¢) Suhara

(4} Kaluhan

‘Wihich of (he Tollowing stalements about

latent heat for a given subatanoce js/nre
comedt 7

L. Itas fwed at e given termpezature.

2. It depends upon the emperaiune
ol wolome.

X how independent of termperntmm
and volime, -

4, It depesuds on the emperature bt
independent af solume,

Select the comoct answer usmg the oo
given below

(a) 2
() | ond 3
(c) 4 omly

(@ 1 end 4

« Which eme of the following sialcments

about the mans of o body ¥ comect ?

(@) I changes from ong plice W
unother

It is same everywhere
It depends an its shape

It does not dépend on its tempem-
T

®)
(©)
(d)

A - SRCY-U-ADN
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1, A ball bolanced on a vertival rod s en
example of

{a) stuble equifibrium
(b} tnsisble equiliriim
() noutml equilibnum

(1) perfect equilibeitim

K1, ‘Which of the lollowing staterments aboui
a fMuid ot rest @ a0 cop daddare oormect 7

I Pressyre fs same mt all the points in
the fluil.

2 Pressure is exeried on the wills

X Presgure exivis averywhoro i the
Mg

Silert the porregt answer weing the code
piven below :

‘(a) 1 and 2 only
() 2'und 3 only
(¢} 1 dmly

) 1, 2 andd

B3, Which otie of the following devices is
ed 10 messure atmospheric presiure 7

(a) Armmeler

(b) Barometer
(c) Potentiviseter
(dy Lactometer

21

54,

85.

A6,

Which wne of the following 1 the
iimber of water molocules that share
with two formuls umit CaSO, in plastet
ol Pari ! -

ia}  One

(h)' Two

(¢} Five

(d} ' Ten

How ts carbon bldck obtumed 7

{a) By heating woud il lgh lemperg-
ture in absence of mr

(k) By heating vonl at high' wempera-
wire in abwenve of air

&) By Giming: hntocntens in a
limited supply of air

(d) By heating coal ol high tempers-
ture in prosence of alt

Which one of the lollowing properiies
i NOT tue for graphite 7

(m) Hybridiszton of esch corbon alom
w gl

(by Hybwidisation of each sarbom stom
is ap?

{c) Electrons are delocalived wver the
whole sheet of ntoma

(d) Bach layer i composed of hexago-
nal mygs

A = SRCY-L-ADN
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B7. Which one of the follisisg 1w the purest

BE. The Polstnous

form af Carbot !
(1) Chareoal
(b) Clake

{e} Fullerene

() Carbon blaik

tolure of  Carbon
monoxide [C0) in doe 10011=

(8) nsolubility m water

{b) ability w fmm & comples  with
hnemoglobin

(e} ability 1 reduge some metal axiiles

() propesty of huving one sijgna bond

Which ong af the following elements
is needed in the human bidy to transfier
electricn] signuds by nerve cells ¥

(r) Lithmum
(b Sodwm
(e) Bubidium

(d) Casstum

o0, Who amemg the ollowing first dis-

9.

covered coll 7

(6} Robert Brown

(h) Robert Hooke

(e} Taeuwenhoek

{d) Rudoll Virchow

Which one of the lollowing group of
orpanisma forms o food chain 7

(o) Gras, human ond fish

(b)) Grass, goat and human

{¢) Tres, tree cutter and tijge

(4} Goat, cow and mman

92. Whach onc of the following types of

tissues will have contractle proteimna

(] Nervous tgsue

by Musdcle Ussue

(¢) Bonpe tusuc

(d)  Blood tissie

A —SRUY-U-ADN
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93,

94,

95,

[f by an unknown accident the acid
secreting, oclls of the stomach wall of an
individual are damaped. dipestion of
which one of the fllowing hitmolecule
will be affecied w a greater exenl
(2] Protein only

(b} Lipid

(e) Carbdhydrate anly

() Protein and Carboliydrats

In which one of the following places,
Hendguwters of a Rallway Zone s
It

(4} Eanpur

H) Lucknow

(e) Hajipur

() New Jalpaiguri

Which of the followmng smtements alsout
Indian Acsdemy of Highway Bagineers
is/are correct 7

1. 1t is o registerod nociety:

2 Il ia & ocollaborative biody of bath
Central  Government,. end  Siate
Governmonts,

Seolect the correct answer wsimie the code
ftiven helow :

() 1| only
(b) 2 only
fe) Hoth | amd 2

() Neither | nor 2

H'

u.

Whach one of the following s NO'T a
tnbutary of Indus River 7

(a) Bean
(b) Ravi
(g Chenah

(d] Tawn

Which ong among the following = the
lurgest tiger reserve of Indin in terms of
area of the coreferitical tiger habial ?

(a}) Manns
(h). Pakke
{2} Nagagjunasagar Srisailum

() Periyar

- Which one of the following is NOT a

conttal depositional leatuns ?
(#) Tembaole

(B) Sand bar

(o) Swmck

(Y Spit

A= SROY-U-ADN
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99.

1““-

101

Which of the following isfare conatal
sl feature(s) ?

. Notoh:
L Sca Arch
I Chiy

4 Hotk

Solect tho correct nopwer uamg the code
given below ;

fa) 1, 2and 3
(b) Z 3 aed 4
fe) 2 and 3 only

@ 1only,

Chomies] weathering of moks is much
meater in & place with

(8) cold ond dry climate
fb) hot and humid clinate
(&) hot and dry climate

(d) cold and humid climete

Which of the [bllowiyg stialetments aboit
gpeciiic hear of u body isfare comreet 7

| Tt depends upon masi amd shape ol

fho body

Z It s mdependent of masy and shape
of the body

1 It depends only upart the temper-
e of the body

Select the correct mnswer using the code
given balow :

(a) 1 omly
in) 2 and 3

(¢} | and 3

(d) 2 only

103, Which one of the fallowing is am

example of the loroe of gravity of the
esrih acting on a vibmting pendoluim
oty ?

() Applivd farce
{(b) Frcbooal foree
{c) Remoring force

(d) Virtusl force

103, Which one of the following stalements

nbaut the mefractive index of & muterial
madium with meipact to alr 18 cosrect 7

{a) T can be eithor positive or negative
(b} I can have zero valus

(&3 Tois wnity for all mnterinis

(d) M 1= always greater than one

A = SRCY-LI-ADN
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04, Which one of the following sstements

105,

about mognetic field figes s NOT
oottect T

(n)
(b
(e}

They can emanate from a poind
They do not erosa coch otlier

Vield lined betwein iwo  poled
canniat be precisely staight lines sl
the ends

There wre oo Deld hnes within s bar
magnet

i

Two convex lensce willl power 2 dioptre
are Kept i conminet with each other.
The focal length of the combined leny
pyitem is

fay Ov10m
ik}
()
()

Zm
dm

(d5m

106, Which one of the following afkali metnls

107,

hussi fowest melting pokat 7

1w} Sediam

(b)) Polssium

(e} Hilbidiam

(dy Caesiom

Which aneé of the lollowing meinls i

alleyed with sogliim w omnefer beat moa
moelear reactor ¥

(] Potassimm
b} Calcium

(¢l Magnesium
{di Swontiom

9

108, Which oue of the Fallowing metals s

109,

110,

used o the flaments of photo-elestsic
cells that oonvert light encrgy into
gledtric energy. 7

(a) Tungsten

(b1 Coppere

(¢) Rubidiom

(dy  Alwmniwn

Which of the following stniemoentd about
Rirg of Fite a/ore comedt 7

L It is & zong of comvergeree plite
boundaries

2 It 1s an active seiamic and voleanic
FoiE

3 v e mesecinted with deep trench

Seliect the correot snswer using the code
irivem balow ;

{a) | amd 2 omly
(b 2 and 3 odly.
(e) 1 anly

() 1,2 andd 3

Which ane of the following Himalayan
vepelation speties id found between the
almudes of 1800 1o 2600 metres T

{2] ‘Soal

(b) Chu

(c) Spruce

(d} Dendar

A~ SROY-11-ADN
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111,

Iz,

113,

Which one of the followmng rivees W
NOT o wibutary of river Cauvery 7

(a) Hermmavati
(b)) Arkavut
(o) Tndravatl

(d) Amrmvab

Which. of ihe followmg conditions
in/are easentind for tea cultlvation 7

L. Tropical and nub-tropleal climaie

2 Heavy minfill moging from 150 dm
. 250 em

1 is_ﬂﬂ should comiain good amount of
ime

Select the cotrect answar weing the code
prven below

(a) 1,2 and 3
(b} 1 and 2 only
(¢) 2 and 3 only

(d) 1 omly

Rbaratmals Project 1 relnted o
{a) Improving road cpmmectivity
(b} Interhnkitge ports and milways
[0} Inberimking of rvis

() Inteslinking major cities with pas
prpelines

31

114.

Which ono of the following is & local
wind that blows oul from Siberis 7

(a) Horn
() Purga

fe) Mistral

(d) Blizzan

115, Which one of the following cenires

11s.

i NOT known for won and  stesl
indistry ?

(a) Bhadravati

(b Salem

(e} Vishokhapatpam
(d) Renukool

Which of the fallowing are casentinl pre-
requisites for establishment of a thermml
power station 7

L. Availability of fosail fuels

2 Proximity o & river, lake o sea

3, Good wrensport network:

4 Prximity to an urban conire

Beloot the cocrect answer uking the coda
given below :

fa) 1,2 and3
b} 2 and 4

(&) 2and 3 only
(d) 1 and 3 only

A - SRCY-U-ADN
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117. Which of the followmy statements abouat

"Andi Mahotsay' held recently i Now
Delhi whare comect ?

I, The themie of the featival waus ‘A

Celebmtion ol the Spirit of Tribal
Culture, Culgine and Commerse’

2 'the festival was orgunized by the
Ministry of Tourium, Geovernment of
Il

Select the correct auswet using the code
givin below

(a) 1 only
(h) 2 only
(e} Both 1 and 2

{d} Nenher | nor 2

118, Light year is & unit for measurement of

(a) ape of univernse
(b} very small Ume intérvls
(el wvery high temperature

(d) wvery Licye distupes

119. Which of the following stlements ghout

clectromagnetic wives, sound waves amd
waler woves waro cormeet T

1. They exhibit rellecton
£ They camy enetgy
3. They ot prossur

4. They can movel in voguum

i3

lm‘

121.

Selegl the cortedt annwer using the code
given below @

fa) 1,2 mnd 3
h) 2-and 4
(¢) 1 and 3 only

{dl 1 only

Therma! capacity of a body depends
on the

(2) mues of the body only

(b} thass and shape of the bodv only
(¢) density of the body

mrass, shape and termperature of the
body

L)

Who among the following first used the
term “Indusirial Revolition” in Biiglish (o
descnbe the chanpes that occurred in
Brnush industrial dovelopment berween
176 amed 18207

{n) Karl Marx

{b) Georges Michelet
() Amold Toynkes

(d) Friedrich Engels

A=SRCY-L-ADN
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122, Which one of the following statements

123,

about the Olympe de Godges (1748
1793) iIn cotrect T

(a] She declored thig slibough ditisens
should have equal rights, they are
not entitled to the same handuts by
the Stare

(h) She wus o supporter of the Jacohin
Bovartiment

(¢} She was guiled for tresson by the
Mutionsl Asseribly

() She declored that the nation is the
uniyn of woman and man

Who ameng the following built & mode]
sieam engie i 1698 called “Miner's

Friend” to drm tmnes *

(a} Thotmm Savery

(b} Thomss Neweomnom
(¢) James W

() Tiehard Arkwright

124, Which one of the following statements

about Menmssance Humemst coliure s
NOT tae?

(n} Tt slackened the contral of religion

over human life

(b} It bebeved that humen pature was
many-sided

(e) Tt was comcerned with good
mannern

{(d) It critcized matennl wealth, power

v glory

125.

Who gified the Badvhah Nama 1o King
Ciearpe in 17997

(W) Mbul Fisl
(b) Abdul Hamid Lahari

(e} ' Nawib of Awailh

Ay William Jones

126. What is (he nire of the awird givert to

127.

mgrilotious men in (he Mughal Court In
thie form of a wbe of honowr that was
once worn by the Emperar?

(1) Sarapa

b} Iatka

(e] Padma munmsss

() Khilat

Who among the following social reformer
slared 2 souiety for the encourage-
ment of widow remumage n 1866 n
Meaharsshtm 7

() Hal Gangadhar Tiluk
(b} Jyvutitan Phile

(¢) Vishnushmotri Pandit
() Pamfitn Rammbug

A= SROY-U-ADN



129, (851 # wamen d enfE o wHE

s gon w1 am w8, A7 e
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et 1 2

() fefer wwefim wm (Rl sfomm
sttt

() st wam (S W)

(c) e i i (v SR sTGE)

() Wi ww (i swifam)

129, fumfaforss ot 8 fens 1703 % s &

Teemiit =5 & grEm W 7
(n) A mT

() w2 fus

(c) Tt s

(d) b

130, 1657 iy i ot B gy A Rl

131,

i fimg we amd Fdvdt o ap wn §
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132,

133,

() Wi, T T, TR H
(d) . Y. ST o

Areay

il W & e weE F Oy e
venfm fem & awm @ wefin e=
g S A S, o AT W
sy fivn firan™ w1, Fet <t 2 e AR
W = R

{a) S

() o1, S, s
(c) e W

(d) EEE T W A

Frwerfitia 3 & altr /& ofirefine st
wirfes it 28 2
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2 piwite

3. fawmrem s
4, gt fwa
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e :

() S |
(b} e 2 i 3
(c) WA, 3 e
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125, Name the fest major volunliry nhaocise

lml-

131.

ton representmg pomanly Indion fand-
‘ol miterests that was ot up in Calcatia
' RS 7

(n} Hriniak hadizn Assocution

(h)  Landbolders Society

(e) Mbadms Nulve Associution

() Bombay Associabion
Whir amomy the Bllowing introduced the

Permuanent  Sotlememt of Benpal in
17937

(#) Tord Comwallis
(b} Lord Ripon
(¢} Hobert Clive
(d) John Adam

MName the rehel whe fought againg the
Britidh in ihe battde of Clinhst (g the
coumie of the 1857 Rewvall?

(4 Abmadullsh Skok

(b) Shah Mul

(e} Mangal Pandey

(@) Kunwar Siagh

Who among the follywing ame the
two civil sorvants who assiged (he
Conatituent Assembly o lmming e
Congtitotion of Tndia 7

(a) BN, Rau'nnd K. M. Mundhi

(b} 5 W Muokheres and Allad] Krishma-
swhTy Ay

5

132,

133,

fe) BiN. Rau and 5. N Miikhorjee

(@) K.M. Munshi and Alladi Krishng.
wwmy Alyir

Whick meomber of the Consbituent
Assembly proposed the cesolution that
the Natiomal Flag of Indin be o
“hecizontal ncolour of saffror, white and
dork green in egual proportion”, with a
whee! i nuvy blie at the contre 2

{7) Jawnharial Nelm

(B B R Ambedkay

(¢} Rajendrs Prasad

(dy  Sardar Valluhhbhad Farel

Which of the following whee NOT
hlatorical biography/biogrphies ?

|, THpavamsa

2 Hurshucharim

3. Vikromankoddvachurits
4. Prithvirnjavijoya

Select the cormect answer from the diide
given helow :

() 1 poly

(6) 2 amd 3 only
(] 2,3 and 4 ounly
(d 1,2 3 and 4

A= SRCY-U-ADN
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(o} TIFEEET 279
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(d) e
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134 Which of the following paim  ae
comectly matizhed

Trieler Cimntiv frism
L Marco Polo laly
2. Thn Batmm Myiocon
3, Nikinin Tussn

4. Sevdi AH Reis Turkey

Select the correct sniwer usmg the code
gven below

fa) 1, 2 and 3 only
(h} 2 and 3 only
(€3 1,2, % and 4

(dl 1 end 4 only

135, Which of the followmng olpns ame
incinded in the Agnikuls Rajpots 7

|. Pratiharas
2 Chonlukyss
1. Parambms
4. Chahomanas

Select the vorreet answer firom the cade
given below |

(a) T oamd 3 onmly
thy 4, 3 und 4 anly
(e} 1,2, 3 and 4

(i 2 and 4 ooly

39

I36. Who amomg the following was the guthor
of Humayon Momp 7

(&)
{b)
(e)

Ci}

Roshannm Begom
Hugpustiye Sultnn Begum
Ciulbadan Begum
Gnuhara Begum

137 Which une of the following abomt the
Parlinmient of Thdia is NOT correct !

(3) The DParlisment comsivis of the

)

lc)

(d)

Président, the Lok Sabha and the
Rajya Sabha

There are no nomdnnied members in
the Lok Subha

The Rajyu  Sebhs  cinnol  be
dissolved .

Sutne metmbers of e Rajva Sabha
are nomriaated by the President

138, Which one of the following statemonts
with regard to the Compooller and
Auditor Genéral (CAG) of Indin s NOT
comoct |

(a)

()

(el

)

He i appiintsd by the President of
Indin

He com be removed from office in
the same way ai the judpe of the
Supreme Court of Tndiz

The CAG is eligible for further
office under the CGovernment of
India after he bhos ceased 10 hold
hils offce

The salmy of the TAG s

upem  the Conpolidated Fund  of
Il

A= SRCY-U-ADN
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139, The Superintendence, direction and

140.

141.

eonirol of elections in India bs vestad in
() The Supremie Cottt of ludii

(b) The Parliament of India

{¢) The Election Commission of India
(d) ‘The Chicf Flestion Commissione:
Which of W (ollowing provislonis)

of the Constitution of India became
effactive frum 26th November 1949 7

|, Elections
2 Citizenship
1, Emergency peovisions
4, Appointment of the Judges
Selent the comrect snpwer uming the code
given helow
fa) | only
(b) 1 and 2 only
{e) 1,2 mud 3
{d) 2and 4

Which of the followmng sisiements
regarding comstruction of Rohtang tunnel
B NOT correct?

(8) Tt Is located ai an sltitude of 5,000
{oet

() I will provide all-vear connectivity

to Lahail and Spiti Vallcy

The tunnel t4 being built by fhe
Border Rands Organization

10 weill reduck the Jength ol the Leh-

Munall highway by approximately
50 km

(c)

(d)

41

142, Whe among the following nicemly

143.

1d4.

became the [fat woman pilol in lndin
Nuwy' 7

(d) Asthis Sispil
(k) Hoope A

(c) Sakthi Maya S

1) Shubbang Swaroop

Who smonp-the following Indians did
NOT hold the title of Miss World 7

(0] Reita Furia

() Sushmity Sen

() Dnana Flayden

() Yukm Mookhey

Which one of the following countries
han failed 1o qualify for the fimt time

in 00 yeurs for the FIFA World Cup
1o be held in Russia in the yoar 2018 7

(a) Mexico

() Tran

{¢) Saudi Armbia
() Daly

145; The Defence Techmology und Trade

Initintive (DTTT) s & forum for dislogue
an deleme padiesaldp betwesn lindia
il

n)  Rusi

{H) United States of America
(=) lsragl
(d) Trance

A — SROCY-U-ADN
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146. As per the policy applicable in 2017,

147,

148,

how much Foreign Direct Investment
(FDD) 35 permitied in b defence sectir
i India 7

(4) 49 per cent through the automatic
rotile

(b} 26 per cent through the goveimment
Toue

(¢} 26 per cent through the auwlomatic
toute snd beyond that up to 49 per
cunit through the government moute

(d) 75 per cent Uwoueh the auromatic
e

Which one of the Bollowing countries did
NOT participate in the 21st edition of
Exereise Malabar 7

(0} United Sortes of Amenca

(b} Japan

(] Indin

(d) Australia

Justice Dalveer Bhandan of Indin waos
recantly re-clocted to the Intemationul
Court of Justice ufter Christopher
Greenwnod pulled out befiore 12th round
of voung. Chmstopher Greenwood wie a
nomimee of

(a) Canada

() Russia

(¢} Brtan

(d) LISA

41

149, In order to review: the [ncome Tox Act,

1961 and t dmft & new Dhrect Tax
Law m conuonance with econivmic nesds
of tie country, the Government of India
m November 2017 hod constitoted a
Tusk Force. Who amang the following &
mads the couvenoe of it ¥

(a) Shr Arvind Subramanian
(h)  Shri Arbind Mods
(o} Shri Amitabl; Kant

() Dr. Bibek Debroy

150, The 5th Global Conferenmor on Cyber

Space (GOCS) was held in New Delhi
in November, 2017, Which of the
lollowing statements about GECS infure
correct ?

1. The 4th verson of GCCS wan held
mn London

2 The mein theme of GCCS 2017
s ‘CyberdAll; A Secure and Tnciu-
sive Cyberpoce for Suptainable
Developement’

3. 'Bindu' s the logo of GCLS 2017,

Select the eorrect answer using the codd
given below :

(o) 1 only
(0 2 enly
(c) 2 and 3 only

(d) 1,2 and 3

A= SRCY-U-ADN
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